

# CHHATNA CHANDIDAS MAHAVIDYALAYA

(Affiliated to Bankura University)

P.O.- Chhatna & Dist.:- Bankura & West Bengal & Pin- 722 132 www.ccmv.in, e-mail : ccmvoffice@gmail.com
Mob : 9434521209 / 9475585518

Office: 03242-201125, 7001138398, 9007933805

**INTAKE CAPACITY: 2024-25** 

Subject	Total Major Seat Capacity	Total Minor Seat Capacity			
BENGALI	140	280			
ENGLISH	140	40			
SANSKRIT	100	75			
HISTORY	140	140			
EDUCATION	140	150			
POL. SC	51	91			
SOCIOLOGY	140	75			
total	851	851			

Approved by the Bankura University

2007

Principal Chhatna Chandidas Mahavidyalaya Chhatna, Bankura

Malauika Sinha

Chhatna, Bankura

06/03/2025



# BANKURA UNIVERSITY

(West Bengal Act XIX of 2013 – Bankura University Act, 2013) Main Campus, Bankura Block-II, P.O.- Purandarpur, Dist. - Bankura, Pin - 722155, West Bengal

### Office of the Inspector of Colleges

Ref. IC/BKU/Intake/2024/42

11/12/2024

To The Principal CHHATNA CHANDIDAS MAHAVIDYALAYA

Madam,

With reference to your letter, CCMV/BKU/IC/Intake/2024-25 dated 11.11.2024, approval is hereby accorded only for Minor-wise intakes in different subjects as follows:

Approved		
Intake		
280		
150		
40		
140		
91		
75		
75		

Regards.

Dr. Saurabh Dutta **Inspector of Colleges Bankura University** 

Dr. Saurabh Dutta Inspector of Colleges

### Copy to:

- Dean of Faculties (Officiating), Bankura University With a note that as per the resolution of Agenda 4 of the meeting dated 29.08.2024 of the Faculty Council for UG Studies this order is hereby issued in exigency, whereas necessary ratification will be sought in due course
- Secretary, Faculty Council for Under-Graduate Studies, Bankura University For his kind information
- Secretary to Vice Chancellor, Bankura University



## **Reservation Policy Wise Intake 2025-26**

SI	Subjects	UR	SC	ST	OBC A	OBC B	EW	TOTA
								L
1	Bengali	63	31	8	14	10	14	140
	PWD	02	02	0	01	01	01	7
2	English	63	31	8	14	10	14	140
	PWD	02	02	0	01	01	01	7
3	History	63	31	8	14	10	14	140
	PWD	02	02	0	01	01	01	7
4	Education	63	31	8	14	10	14	140
	PWD	02	02	0	01	01	01	7
5	Sociology	63	31	8	14	10	14	140
	PWD	02	02	0	01	01	01	7
6	Sanskrit	45	22	6	7	10	10	100
	PWD	02	01	0	01	00	01	5
7	Pol. Science	23	11	3	4	5	5	51
	PWD	01	01	00	01	0	0	03
	Total	383	188	49	81	65	85	851

**Approved by the Bankura University** 

Chhatna, Bankura

18/03/2025



Malauka Sinha

Principal
Chhatna Chandidas Mahavidyalaya
Chhatna, Bankura



(West Bengal Act XIX of 2013 - Bankura University Act, 2013) Main Campus, Bankura Block - II, P.O.: Purandarpur Dist.: Bankura, Pin: 722 155, West Bengal (India)

Office of the Inspector of Colleges

Ref. IC/BKU/2025/007

12.02.2025

### TO WHOM IT MAY CONCERN

As on date, CHHATNA CHANDIDAS MAHAVIDYALAYA is a college under the permanent affiliation of Bankura University.

Issued on request of the college concerned, as directed by the Hon'ble Vice-Chancellor, Bankura University.

Dr. Saurabh Dutta Inspector of Colleges Bankura University

Dr. Saurabh Dutta Inspector of Colleges Bankura University

12/02/2025

Copy to:

Secretary to Vice Chancellor, Bankura University

